Year 5 Homework, Spring Term Week 10 1
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6x4 =

384 - 27

145 +92 =

100 x 9

What is V2 of 14?

Which is bigger, 545 or 554?

Maths: Speedy Six
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What is 34 x 100 =
Whatis6 x 7 =

Round 5545 to the nearest 10.
6534 - 223 =

What is half way between 8
and 12?7

What is the perimeter of this
square? Remember perimeter
means add up all the sides. All
the sides on a square are the
same length.
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Geography Homework

As part of our recent theme on ‘Living with the Power of Mother Nature’ we have been focusing on
locating some of the major countries and principal cities of Europe and North America.

For this week’s homework you are going to focus on Europe. See the attached sheet for the instructions.
You will be tested on this in the week after Easter.
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Spellings

television
treasure
usual
measure
division
vision
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Optional Maths Extension:

One bonus house point available

Addition and Subtraction to 100 Word Problems

11. If you count 67 rabbits in a field and 52 of them
hop away, how many rabbits would be left?
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Homework is due in on 4" April



